PonukoBblie npodunbHbie Hanpaesnaowme n kapetkm HSAC

(1) GRH-CA / GRH-HA K,
T | e @10
My — -
j:“'-ﬁ L 7o, éﬁ G @ Q@ [&©
RN 1 [ o b
oY ox e 3:3 ) A —
2 ¢l b = s

H H1 N W (B B1 C L1 L K1 K2 G MxI T H2 H3 WR HR D h d P E (m m) OvHam. Crar. MR Mp MY

GRH15CA | 28 4 9,5 34 | 26 4 26 45 68 13,4 47 53 M4x8 6 7,6 10,1 15 6575|5745 30 20 M4x16 13 24 31N 173 173

GRH20CA 36 57,5 86 15,8 21,3 46,7 647 460 460
34 5 12 44 | 32 6 6 53 M5x8 8 8,3 8,3 20 21 951 85 6 30 20 M5x20

GRH20HA 50 77,5 106 18,8 26,9 63 872 837 837

GRH25CA 35 66,5 |107,8 | 20,75 27,7 571 758 605 605
40 5 1251 48 [ 35| 6,5 A 12 M6x8 9,5 10,2 10 23 23,6 l 9 7 30 20 M6x20

GRH25HA 50 81 14,4 21,5 33,9 73,4 975 991 991

GRH30CA 40 71 114 23,5 39,1 82,1 1445 1060 1060
45 6 16 60 | 40| 10 8 12 M8x10 9.5 9,5 10,3 28 28 14 12 9 40 20 M8x25

GRH30HA 60 93 131,8 24,5 48,1 105 1846 1712 1712

GRH35CA 50 79 124 22,5 57,9 105,2 2170 1440 1440
55 16,5 18 70 1 501 10 10 12 M8x12 12 16 19,6 34 30,2 | 14 12 9 40 20 M8x25

GRH35HA 72 | 106,5 | 151,5 | 25,25 73,1 142 2930 2600 | 2600

GRH45CA 60 106 153,2 31 92,6 178,8 4520 3050 | 3050
70 8 | 205 ] 8 | 60| 13 10 12,9 M10x17 16 20 24 45 38 20 | 17 14 | 525 | 22,5 M12x35

GRH45HA 80 [ 139,8 187 37.9 16 230,9 6330 5470 5470

GRH55CA 75 | 1255 [183,7 | 37,75 130,5 252 8010 5400 5400
80 | 10 [ 2351100751125 125 |1 12,9 M12x18 17,5 22 27,5 53 44 23 1 20 | 16 60 30 M14x45

GRH55HA 95 [ 173,8 232 51,9 167,8 348 M50 10250 | 10250

GRHB5CA 70 160 232 60,8 213 41,6 16200 11590 [ 11590
90 | 12 315 | 126 | 76 | 25 15,8 | 12,9 M16x20 25 15 15 63 53 26 | 22 | 18 75 35 M16x50

GRHE5HA 120 223 295 67,3 275,3 572,7 22550 [ 22170 | 22170




